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Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question

1 A i B
Paper Booklet. Pleasc read and follow the instructions on the OMR Answer Sheet for marking the correct
response.

VIgRU BTSFo wwEBETE e w50 500, 088 (Ldowb) zarzan Sigo vododudhi, sajde
BTV ;Eg} BN Ldowd 2o DHE P Bod) drdda eEgm 58300358 M.
The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly

printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure

the booklet code printed on OMR Answer Sheet is same as the Question paper booklet code
supplied to you.

0Eg8 Loth 2T aodigoD iranods pifos’ HEBTE Sonb Hbukn L PO Lol vonds Bo

O DOHErRSITD. wEd 5% 20ys Lloul aTw HEo DG EwEeDS WS §8, 30y @& sgo

D& S0BoDY wEDY FE w88 wanss I8 soSraresin.

. Changing of answer is NOT Allowed.

zaendy I8 éﬁ?ga'cﬂd"é.: SrdneH edisodndd.

# The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of 1, 2, 3 or 4 in the OMR Answer Shect with Blue/Black Ball Point Pen, as it is not
possible to change or erase once darkened.
w8ard Looess 2Iraudgo D Jriods i d8ddo S8 s Edﬁ@m ;ﬁa%an‘ 25T Do)
2Tl Joo 35 Send erddronods BXYS' 1,2, 3,4 Himes® o 5)227) &% FroodSBl.

» Use of Eraser or White Fluid on the OMR Answer Sheet is not permissible as the OMR Answer Sheet
is machine gradable and it may lead to wrong evaluation.

Sarargoddo cdodo vodor Band Jol Llows 2o Sigon 36 LG MR, Tapde R
Tk eid O,

. Immediately on opening the Question Paper Booklet by tearing off the paper seal please check

for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions

(1-200), (jii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the

cormmencement of the test.

2630 HEHPo wEDE HES JEALI Jo&d efibom Inpor (i) S Trouodd wEDS g8
/D% /6 HE Ddp o8 TE 508005 ET5%. (i) 1 o8 200 355 Wi o 30D ESod' asyo
B0 308008 5TM. (iil) Ddo Jopg Jocke (iv) 3PS Iu&m. DS 6,5 Dhckruest D3 !ﬂhj:_u
558 chitfe wiighen $5 Hdgasen Syms ammg DOE T HodDS 5 1Tt ENEE) Srdns S,
. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical’/Log Tables
are not permitted into the examination hall.
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24, 25 & 26 and half mark for post

One mark will be awa de 21,
code 22 & 23. Thererifiifgﬂ c::gﬁgf:mx;ﬁ?cr g
0% 8 Eaypoks Y B'E 21, 24, 25 Kbk 26 oo uf Srdy, TP EE 22 Socke 23 Tk g
S, ﬁwmcﬁdca"ﬁﬁlﬁ)énoﬂ. SluSol) Herd)E Srd) e GHR . .
Answers lo the questions must be entered only on OMR Answer Sheet by completely shading the dpproprate
circle with Ball Point Pen (Blue or Black) only,
Joo T Sy ardSrowoes @& Ldowl maraodgon argm SToh 53%-;‘3.1 Jigysed BaEIm
rooTsDR., - ]
The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
Ldowsl wared H|F0D Sydod® DYSS HoT BE a8 SyEsne* §77) 5,3 SHEed® OF) €“E) LA
Do DO ©d SorogosTas HeKBosnasd).
The OMR Answer Sheet will not be valyed if the candidate
%‘Jﬁgg Lo 2o HFon & BHS ?}6‘5;5_13 F0s Bde aaad|igo Suorargosso Dohadd.
(2) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose, !
Looesf 2o JFo Jrdodd Pddod’ 5§ FELUEE Jowdd 30 Pofed’ 5.8 @’53{525531
(b) Writes any irrelevant matter including religious symbols, words, prayers or any communication what
50 ever in any part of the OMR Answer Sheet,
Ledowsd maran Do SodhERE e, HTrw, BB, @'g?ﬁm 50 248 wlhonodiod Sararto

e égéf‘ﬁa,
(c) Adopts any other malpractice.
QL0508 DERSESH Frendsd.
Rough work should be done only in the space provided in the Question Paper Booklet.

BTSEo enbBis’ Siranedd HETos® K@ 85 55, BWEFLIT5.
Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end

of the examination.
g 2830 H85 Fend’s (HI00N dogd Sbxr oo JoA Sk achik Sodadd.

Ensure that the Tnvigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
gl 35 padigo 8BS R BLrowods (HBes” HY5REHI GnE), Hodlo ENETISTH. v Llosb

2oeEnbBon il siraodd BdFos” S8 DodEo DohoSBR.
The candidate should write the Question Paper Booklet code and its serial number and sign in the space

provided in the Nominal Rolls.
TLES &Sy E@%‘oﬂ.ﬁ BRELTR weﬁgg Bandigo wEBE §°6 Dot R ¥ Rowgsy SS5yAI6m

|TroH 5B Sabasn VgFeDN (HEF0® Jodso DobIBH.

Returm the OMR Answer Sheet to the invigilator before leaving the Examination Hall, Failure to return the
OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper
Booklet shall be taken away by the candidate and should be preserved till the declaration of results.

HEE oo Dod achlsh IPIYD LJoud zaeadiE) ﬁﬁsﬁgﬁaé SoLECHIBD. Ldosd 2oredigo
wolsBEahas wHh E85 Sogew S0F S0 2HHdod DBy eS8 S0sed Deodbodns
(D8 Q). waisy & PIRHEEND $5 Tob SLHIESUNK S0 HOS JaoD SEL Bmigo

WEBETH E5 3¢ g FgHdysSB.

NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English

version shall be treated as final, since the Question paper booklet is printed in two languages
viz. English / Telugu or English / Urdu. -
WET B vdrTes’ wdid o, R0ARG" DO BEYIAcho HOGHSET T IeIITR.
Does2808 BTSE0 WS Todh eries” IHBoSHESE. (RoAS/Bests Bor @0l ).

This booklet consists of 48 Pages including Cover Page and Pages of Rough Work
& PTSdo wEDE ES5HDE oA 8D 35, LR0F $0H 48 Diden 508 a5NE
2-B i
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fime : 3 Hours

Instructions :
(i) One mark will be awarded for ¢ very correct answer for post code 21, 24, 25 Lk 26 and half’

mark for post code 22 & 23. There are no negative marks.
BTI OO TWE [ F5 21, 24, 25 00a» 26 0 oF | Srdy, 3P E'E 22 0008w
23 Foso «08 S “ !:""CQJQ SE80 20, Jtndodd o )& ﬁrd:.-.m g3.

Choosc the LDITI‘.'{‘:[ or most '1ppropn ate answer from the Lnru" ﬂpllmh to the following

(1)
questions and darken, with blue/black ball point pen the corresponding digit (1), (2), (3) or
(4) in the cirele pertaining 10 the question number concerned in the OMR Answer Sheet,
separately supplied to you.
8BS 23S B8 RHE ";:5-*-5.:5 TS F0GR BArpIsnd INEFA T Ardol
ff—:ﬁ (1) (2); B) 85 (4) 3o 233 OMR 3858 HS50S* BHS SonooDD
Sopgieo ;3,}'3"5‘1 a/er§ oS SawodsS DR FI@ArHod AoISDI.
1. Choose the grammatically correct sentence.
(1) Weare living in this house since 2010.
(2) We have been living in this house since 2010.
(3) We have been living in this house for 2010.
(4) We were living in this house since 2010.
2. Choose the meaning of the underlined phrase/idiom.
In order to achicve success one should be realistic rather than living in a fool’s paradisc.
(1) false expectations (2) ambitions
(3) greedy (4) nosey
3. Choose the meaning of the underlined phrase/idiom.
Almost all the political parties today love to play to the gallery.
(1) to be dishonest (2) to become popular
(3) appeal to popular taste (b)) bring social reforms
4. Choose the meaning of the underlined phrase/idiom.
If you study by bits and starts vou can never achieve your goal.
(1) Regularly (2) Emotionally
(3) Seriously (4) Inconsistently
5. Choose the appropriate phrasal verb.

The novice teacher finds it difficult to the naughty boys in the class.

(1) puton (2) putupwith (3) putoff (4) putout

3-B
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6.  Choose the appropriate phrasal verb.
The cricket match was ____duetohcavy rain.
(¥) called off (2) called of (3) calledat (4) calledin
7.  Choose the appropriate phrasal verb,
Nothing on the carth can _____the loss of a child.
(11  makeout (2) makeupfor  (3) makeover (4) makeup
8.  Choose the correct passive form of the sentence.
The workers are painting the house.
(1) The house was painted by the workers.
(2. The house is being painted hy the workers.
(3) The house was being painted by the workers.
(4) The house is painted by the workers.
9. Choose the correct passive form of the sentence.
Joe was driving the car so fast that it skidded on the road.
(1) The car was driven by Joe so fast that it skidded on the road.
(2) The car had been driven by Joe so fast that it skidded on the road.
(3) The car has been driven so fast that it skidded on the road.
(4) " The car was being driven by Joe so fast that it skidded on the road.
10. Choose the correct form of the verb.
John T.V. when the door bell rang.
(1) am watching (Z) was watching
(3) was watched | (4) would be watching
I1. Choose the correct form of the verb,
No one is allowed to the trees in the forest.
(1}-fell (2) fall (3) felled (4) fallen
12.  Choose the correct order of the given jumbled sentence.
in India / art form / established ancient / street theatre / is a well
1 2 3 4 5
(1) 4,1,3,5,2 (28 84,152 3 #1539 4) 3,2,4,5,1
13. |

Choosg the correct order of the given jumbled sentence.
on seeing the / first time? / Hari think / what did / cobra for the
I 2 3 4 5

-

(1) 43,125 @) 43,1,52 () 3,541,2 @) 43,521

4-B
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Choose the correct order of the given jumbled sentence.
she would cross /Kalpana Chawla said / as a child in Karna] / that she never dreamt/
1 2 3 4
the frontiers of space '
5

i) L3 543 2y 2.1.5:3.4 (3) 2,4,3,1,5 (4) 2.4,1,3,5
Read the following passage and answer the questions. (15to 19 Questions)

Mano Majra 1s a tiny place. [t has only three brick buildings, one of which is the home of
the mon»::yl_ender Lala Ram Lal. The other two are the Sikh temple and the mosque. The three
srick buildings enclose a triangular common with a large Peepul tree in the middle. The rest of
he village is a cluster of flat-roofed mud huts and low-walled courtyards, which front on narrow
lanes thaF radiate from the centre. Soon the lanes dwindle into foot-paths and get lost in the
surrounding fields. At the western end of the village there is a pond ringed round by keekar trees.
There are only about seventy families in Mano Majra, and Lala Ram Lal’s is the only Hindu
family. The others are Sikhs or Muslims, about equal in number, The Sikhs own all the land
around the village; the Muslims are tenants and share the billing with the owners.

15.

The place described in the passage is a

(1) City (2r Village (3) Town (4) Barracks
How many Hindu families are there?

(1) Seventy (23 One (3) Five (4) None
Who cultivate the land in Mano Majra?

(1) Jains (2y  Mushms (3) Missionariecs (4) Hindus
Lala Ramlal isa by profession.

(1) Tiller (2) Priest (33 Moneylender (4) Sweeper
What is located at the western end of the village?

(1) Mosque (2) RamLal’shouse

(3) Peepul tree (4) Pond

Choose the word which is similar in meaning to the underlined word in the sentence.
Deforestation is responsible for the paucity of animal life.
(1) incrcase (2) shootup (3) scarcity (4 possibility

Choose the word which is similar in meaning to the underlined word in the sentence.
The building has been refurbished recently.

(1)« constructed (2) demolished

(3) disposed (4) renovated
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22 Chnos.ﬁ: thr:j antonym of the underlined word in the sentence.
He relinquished from the role of a manager last month.
(1) renounced (2) gaveup (3) retained (4) discontinued
23.  Choose the antonym of the underlined word in the sentence.
We are sanguine about the outcome of the meeting
(1) glommy (2§ happy (3) confident (4) genuine
24.  Choose the correct spelling, )
(1) Dilema (3) Dillema (3) Dilemma (4) Dillemma
25.  Choose the correct spelling,
(1} equipment (2) equiptment
(3) equippment (4) equipmant
26. Choose the appropriate preposition.
The custom is peculiar _ our culture.
(1) from (Z) with (3) by 4) to
27. Choose the appropriate preposition.
Houses were built in a long row the coast of the sea.
(1) between (2) beneath (3) under (4). along
28. Choose the grammatically correct sentence.,
(1) Neither of the girls are willing to accepyt the proposal.
(2) Neither of the girls 1s willing to accept the proposal.
(3) Neither of the girls have willing to accept the proposal.
(4) Neither of the girls were willing to accept the proposal.
29. Choose the grammatically correct sentence.
(1) Ramesh said that he will be ready in an hoyr.
(2) Ramesh said that he will ready in an hour.
(3) Ramesh said that he would be ready in an hour,
(4) Ramesh said that he be ready in an hour. 1
30. Choose the grammatically correct sentence.

(1) Roy came to the city last week.
(2) Roy has come to the city last week.
(3) Roy come to the city last week.
(4y Roy had come to the city last week.

6-B
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In questions from 31 to 36 each question has a sequence with one blank space. Identify the
correct answer among the given options that fits with the sequence to fill that blank.

31 food 36 S6% Mo PHos, B8 PHS A0 L8 B ERS® Ll Td @ Gob. A
EQ‘]E*&?: s YRESTAE 5853 JSErpad) H8oD, & T Frootod.

129 141, 147, 159, 174,

31.
(1) 189 (2) 186 (3) 192 (4) 194

32. 101,105, 114; 139, 188, j
(1) 309 (2) 270 (3) 288 (4) 252

138 % 26,03, r- -, 215
(1) 72 (2) 106 (31 124 (4) 176

34. BDF, CFLDHL, _
(1) EN (2) EKP (3) EIP (4) EIO

35. E50J, F72L, H128P, K242V,
(1) A3B (2) G2IN (3) C36F  (4) L288X

3% BLEOGKM
(1) S (2) W 3 Q 4) O

37. In a certain code, if ‘STATEMENT’ is coded as ‘GFYFUMULF’, then the code for
‘CONCLUSION' is
2% 303 S8 *STATEMENT % ‘GFYFUMULF ' §'6 873, wiydo ‘CONCLUSION’
g §&
(1) WKLWNFGRML, (1) WKLWNEGQKL
(3) WKLWMDGQKL (4) XMLXOFGRML

38. If FLRX=6and EJOT =5, then DHLP =
FLRX = 6 55605 EJOT = 5 wowshd DHLP =
(1 3 (2 4 (3) 7 (4) 8

39. Inacertain code if ‘ABILITY" is coded as ‘ZYROR_EE‘, then the code for ‘CULTUREis

2§ 95 §6 S“ABILITY’ 8 ‘ZYRORGB’ m §'6 &%, @iy, ‘CULTURE’ @x¥), §'6

(1) XFOMRFJV (2) XFOHGIV
(3) XFOGFIV (4) XGPHGIV

] M
' 7-B .
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40.  Sunil has put his watch on the table in such a way thatat 6 a.m, the hour hand points towards

North. In which dirf;cﬁun, the minute hand will poi]"lt at9:1 5am?
(1) South-East  (2) West

(3) South

(4) North

5008 88 KBUSrE508 2.8 oD eEabe 6 Hobw HHcHOS, T Hobe 0Ly ¢l
845 DorDodiSdy SoBie. oo Ko 9:15 A © HZCHSVIK & foirdo AW,

Qe Swen Srdod &Y
(1) shocssn (D 58%8

(3) &8eodn

(4) s&E6%0

P 1

A

41. A person P walks 10 meters towards South. Ll'hcﬁ';he turns to h'is left and ﬁralks 20 meters

and then turns to his right. Then after walking 15 meters, he turns to his right and walks
20 meters. Finally he turns to his right and walks 10 meters, turns to his left and then walks

20 meters. The shortest distance from the starting point to his present position is
(3) 26 meters (4) 28 meters

Pud o8 558 6 o9 10 by Sbadh. 8T8 85 dEHB& 3H 80h 20 Dowxdy
$80, 35 HG6B0 Ik B0, & Sond 15 Do S6D, &5 HADS FYIT 30N

20 by $ETE. VST &5 KaDS DYIKH 80H, 10 Dbd $6D; v SHFE G
EHBO BHBK 90A 20 Jobodhy FB. ©ES wcHOBBS Dot Hod A[FE VED

() 26%Ragp  (JY 28 Dod

(1) 20 meters (2) 25 meters

ﬁél %FD& T3 gg dordo
(1) 20 b.‘:é.:d:ﬁ (2, 25 E.)Jé&d)n

42. A man is facing East. He turns 45° in the clockwise direction and then another 90° in the
same direction and then 180° in the anticlockwise direction. Which direction is he facing

now?

(1) North (2) South-East

(3) North-East (4) South

wE 558 ErdnSE edingor GTd. ©SH fédirdo Swey B8A (S35)a¥S* 45°
BORS Sard, Wb BIS' 5608 90° 88N G Sthard S¢88E &7 180° 80ART,

sy 209 D B¥S wdSnpor wad
d) wsso (2) whoko.

(3) éwsg 4) BEo%m

43 Aisamale. If A’s maternal uncle’s only sister’s husband’s daughter is B, th
S (2) Uncle ofB» e

(1) Brother of B
(3) Father-in-law of B

wdyd A
(, B &g, F#do
(3) B/@nE)y SrSmd

en A is the

{4) Bmﬂmr—in—law of B
A o Hodods. A Go% WSS So§ JBE 6B Y g, Srdd B wond,

(2) B, $9 Sor Sod k), FEGOE

(4) B @), ord Sor erdSodd

—

R-B
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44.  Ramtold alady “you are my meternal great grand father’s only grand daughter’s daughter”.

Then that lady 1s Ram's

(1) Mother (2) Daughter-in-law (3)  Aunt (4) Sister

oS ol L“"“"" WY T wspY nad Sng JBE LHHow H5rgy” e,

wdydy EJ Lopl% Gl08),

(1) &0 (2) Eden

(3) &9 Bor do|d Do), RSO (4 =58
45, IfVeena says “Sita’s father Raman is the only son of my father-in-law Mohan” then Sindhu,

who is the sister of Sita, is related to Mohan as

(1) Niece (2) Daughter

{3) Daughter-in-law (4) Grand daughter

By cﬁ:uéar Fold T°HS, T SrSormrd IS @AY, wf wf HIrHK” ©d 6 o0&,
b5 B oS .eof.i: ArTrs

(1) 80 B FEEHD 58 ©YH0d (2) 570 bHod

(3) Fden wHdood (4 oo wHsod
46, Among four friends the age of Mohit is thrice the age of Karthik. Tarun’s age is half that of

Karthik. Anuj is six years older than Karthik but six years younger to Mohit. Then who is

the eldest among these four?

(1) Tarun (2) Karthik (3) Anyj (4) Mohit
 Seofady DEost, IrTrE Gng), Sobdy 5EE Bng), SohiySt Surdity, E6d)
f /G3ba8) ¢ ;Soi:lm‘} 5‘6§ Sodoyes® HKo. whE whard 5785 o8 e dodHTres DEI
50, STefS 5053 wsth> Rodoren DN k. vl 570 SLMBS TR W SRy aBE?

(1) S5 (2) 6§ (3) wiod @ IS

: g 11
7. Abus starts from a place A and the number of woman in the bus is = of the number of men.
In the next stop B, 5 men got off the bus and 3 women got in. Now the number of men is
twice the number of women. Then total number of passengers in the bus when the bus

started from A 1s
A 93 HEF50 $08 20BN wE adydod Ko Sirde Jopg, WodHhS™ Hhbo

Sogpges* %é Hoh. ©b & SHTE FIW B’ sAd)d & dy) Sood ol Yoo

o

Bh S lg::am 28 T, RIYE e Im’m&éofﬁ@ Qoo Ddopsg, éane.: Romgsy O30y
©ond A 58 o)) 20hendbiYt & agdodie 3ngo Pobsie dopyg
(1) 44 (¥ 33 (3) 22 @) 11

9-B
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If in a certain code, 917 = 56 and 826 = 36, then in that code 735 =
285 326;15"56‘ 917 = 56 508030 826 = 36 wonSYd @ §&S* 735 =
(1) 26 2) 20
(3)4 46 4), 25

49.

Tin, )
A train T travelling at 93 km/hr crosses another train T; whose length is half of the length
of first train, moving in opposite direction at 51 kmy/hr, in 24 seconds. If the train T, passes
a bridge in 1 minute and 6 seconds, then the length of that bridge (in meters) is

93 &.20./f0. FKB06" BoSrddg) o deoo T|, o FEHS® Ko FEHH A
51 8.20/0. Bros® 33TV BIS* BosirBiys) 0808 Doo Ty 24 DEIS* TLK.
3w T 28 S085% oréintsd | dhsn 6 DES 2855 & 5085 8P (HLES’)
(1). 640 2y 860

(3) 1065 (@) 1240

50.

A train 476 meters long crosses a pole in 14 seconds. A person takes 7 minutes and
5 seconds to cross a platform whose length is equal to the distance covered by the trainin

20 seconds. Then the speed of that person (in meters/sec) is

476 . FdEHro 28 Do, wf Joasoss 14 DEogs® mréndod. w Jwo 20 g
BoSredosie drddnds J5r8B08 FdPfo FEFEDDP, o 558 7 dparo
5 DESS” 8 Dok, vz & 558 S8, s (LGP

(1) }.2 (2) 1.3 '

3) L6 | (4) 1.8

S:]lﬂﬂ city buses start from a bus station witha speed of 20 km/hr at intervals of 10 minutes |
and moving on a straight road in the same direction. If a person is walking towards the |
bus station on the same road meets the buses at intervals of 8 minutes, then his speed |
(in km/hr) 18 _ :
2§ 28 RAS S0b B
Kotk 20 8.5, SKH06* wcheodtcdTom. ¢ SrTeR 2B RAS IYSKH 34D I
2 5388 o wigen 8 DT WoEESNOS ItbihEod, B8 HS (8.25/K0.06")

%é.‘; 2y BHT &) 8P 280¥5° 10 Jaore wodSdnes

‘ 1
(1) 4 AR - @ 4

3) 5

|
@ 6 d‘



> 4

FRESHERS NOW

EI Booklet Code :[‘El

{3_ r ‘
: ;:; c:ht;j.a;ns A ;t;}d B are separated by 70 kms on a highway. One truck starts from A and
s ;Jm oth at ]p:ﬂﬂ a.m. When they travel in the same direction, they meedt each
ter at 5:00 p.m. and if they travel towards each other, they mect at1ll'00 a.m. The

difference between the speeds of these trucks (in km/hr) is
Eé szng ﬁ:éj ;&:a'cm; B o dQmitine Hggsrdo 70 8.8, A Hod a¥ L5,
<o GEVE IilUP a.!m § wodherdddhancn. wd wd 8 BHErBoD s,
: p-m. §, 2l JIHSKH H6BNES Boiredodapds 11:00 am. &8 geodron.
& Oody (LEn e I HggBdsn (8.0/50. )0 )
(M) 10 ) 12 (3) 15 (4) 16
Directiqns for questions (53 to 55): Each of these questions has a statement followed by UN—D )
.: conclusions I and II. Decide which of the conclusion(s) follow(s) from the statement. Mark
| answer as
' (1), Ifconclusion (I) follows.
(2), If conclusion (II) follows.
(3), If neither conclusion (I) nor (II) follows.
(4), Ifboth conclusions (I) and (II) follow.
PHLo 535008 55585 drSsen: DES* ($8 HHS® wuf HISS0, TR Towd Jok wDoE
(conclusions) &amown. dERSSI0 Hod IS D e BHVETET D AgLowd.

25508 (I) SrEdh od8D, b dSrebo; (1) o
w5508 (II) SrFsd wddsh, o d&rpde, (2) o
ssadies (D), (1) &° 8 0HdboSENE, D J&reHo, (3) o
Bodh wdosogien (1), (IT) wHReR, D 33xSo, (4) © aiged

53. Statement : A company asked its employees to declare their income and assets; but it has
been resisted by the employee’s union and no employee declared his income.

‘Conclusions:
)  Theemployees of this company have no additional undisclosed income besides their

salary.
the employees not to declare their income.

) Theemployee’s union wants all
g Soph, 65 GEgKRS T0 GmaHin Ddun ehol BIKoS

L Gsuso :
Seyy 5B wBASH. 57 & DAoho &g DodroB W TI0GEH 50050
2 2.8) &&'gh 85 Tl 5o PWEGoSBM. — —
L 1

250060 e ‘(@D‘“éﬁ“ﬁl) :
) & Eond S, wdgiRen S50 TE0E D Q88 BEEH BOcHA Bred SN
D).
89 T8 8o DTINo Bgémﬁégﬁ §°608.

r ) &&gd Godda, ﬁrcﬁsgﬁ@ﬂod

-
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54.  Statement : Chief Managerinformed his officers not to read newspapers during office hours,
Conclusions : :

)  Readingnewspapers during office hours is undesirable.
I)  Office efficiency will not increase by not reading the news papers.
RSES0 S0y ATErHE S5 ©EsTHhes sUgRchin HAVck dwdres’ ro
DPEwS SEIErEED BIchHE .
OHMen (Borymen) : ~ Ans:1
) sogochin H3Ton SHared® Frrhdiod WHt eTroPdoHsn
D)+ ooy H@seH IE5%om Soddo Sl sogoch FHgso DEKG

%

55. Statement : A bird in hand is better than two in bush.
Conclusions:
" ., ) Weshould be content with what we have.
II) * We should not crave for what we do not have.

PIBS0 1 DES' Bode DHFoe Kol WES' @S o DE Men,
vl (8o Ten) !

D 5 58 4908 S0 Sody BosSBE.

) 8 5 B oA oo Do o EEErd.

fjjr

Ans:4

56. A decorative toy is made up of a solid cube with an inverted hemisphere surmounted totally
on its top. The edge of the base cube is 5 cm and the circular base of the hemisphere fixed

on the top has a diameter of 4.2 cm. If the entire surface of the toy is to be painted at the

rate of Rs. 2 per cm?, the approximate cost of painting is Rs.

28 583 oSS0 o8 PR ¥En Ingo G°0oDHE) 28 VLO¥Tn &5 SarHRTR.
[ G

205D sFdsn BwE), vow FEY 5 20.20. 50050 @gﬁ‘ézﬁn B, P gHE0
4.2 %0.50. Sy G3wE, Ingo »VOSLIE, BB SHo.do. 8 &r. 2 TEHYS, Yok
Sosnbk edhy Fwdo pAY) (Brarahes®) Sudsrdd

(1) 328 ) 340 (3) 348 (4) 364

A corn cob which is in the shape of a cone has the radius of its broadest end as 2.1 cm an
is of length 20 cm. If each square cm. of the surface of the cob carries on an average fou

grains, then the number of grains on the entire corn cob is approximately

2.8 Fokod) EEEsNG® GX) 0 TY) F& DY), Ideyond F Sgrghe 2.1 00.40

$o805 o0 déy 20 Po.D. & FFH) T DY, B0 Hikod ©O 25, 70.20.8

e Aoz FTTEYS &od, ¥ DD o Igo Moz Bopg wETNOYT

(1) 562 (2) ' 531 (3 525 4) 512
| : 12-B sy 3
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l: 58. The perimeters of the bases of a cylinder, a cone and a hemisphere are each equal to
22 em. The cone and the hemisphere are attached to the circular ends of the cylinder on its
top and bottom respectively. If the height of the cylinder is 6.5 cm and the total height of
the structure is 12.8 cm, then the volume (V) of the entire structure (in cm?) is approximately.

w8 BIHin, »f 0P 0o »f wdAYo @Y BFTY MigFoden wEYYE
22 o..0% H5rdo. Yok Sobdhn wFfferosy dndl akIve &f) HESSeH
purfo 0o FoBerfos” SHIT w0, eirdin @0g, J& 6.5 Wo.b.
.;’:JEudi:nJ. 8 Jogo dngoe J&y 12.8 0.2, wowd, & Jwodo mn‘ém:.ﬂn RNE), Do

2bdreedn (V) (08 Do..o8®) dganedm

(1) 324 (2) 348
(3) 366 (4) 376

39. [Ifacopperrod of diameter | cm and length 8 cm is drawn into a wire of length 18 meters
of uniform thi;llm‘ess, then the thickness of that wire (in cms) is

Mt S F
| Bo.ab. TgdSn 8 Wo.du. FEH Ko ¥ ooh 41, JEBE oS EOAS 18 Wbod
FEH fo 8T 9B, v 85 DY), HolBw (F0.0.05°)

1

1
() = (2} o= (3)

30 : 20

|
s @

60. A solid metal sphere of radius 6 cm is melted and a hollow cylinder of uniform thickness

is formed from it. If the external radius of the base of the cylinder is 4 cm and if its height
is 72 cms, the uniform thickness of the cylinder (in cm) is

200.40. ﬁ"sér::ié&u Ae 28 K8 P 5005 E0AoD, TRS0d JE68 oSy EOAS
Fen mmﬁmﬁ.} cirﬁo&om*d.} & ArdSn Gng) g grargrghn 4 0.0, Sobodn
& .?.Jr:fo 72 %0.80. wowd, & @gam By, 868 Ho088» (Wo..oSf)

(1) 0.536 (» 0.568
(3) 0.582 (4) 0.624

6. An article is sold at 25% profit. If its cost price and selling price are increased by Rs. 20

and Rs. 4 respectively, then the profit decreases by 10%. The cost price (in Rs.) of that

article is

w8 S 25% TrFSNIE @ATH. T FHBo Sodoin wdngHRoos Sdm
S 20 ;335&‘&1:1 &r. 4 2odd, orgfdn 10% Shdod. & 3RJH e (Bmnere5?)

(I, 640 (2) 600

(3) 625+ . { | (4)

590
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62. Kapilbought 120 kgs of Tamarind at Rs. 100 per kg. He paid Rs. 480 towards transport,

Rs. 60 towards other charges, and Rs. 0.50 per kg. towards taxes. To gain 25% profit, he
has to sell the product per kg. at Rs.

§28 120 &' DodHododd 8° 25,088 &r, 100 TIPS Faneh. wdd 8. 480 &
TR S, 6. 60 S 988 pdyesmrdy $06050 8.4, w8 otds dru 0.50 TEYS
SRR, ) DDoBH. s 25% g FodITIT) TANV 8S° L5088 winded
&8 (BrSFosreest) .

(1) 13575 (2) 132.50 () 131.25 (4) 128.60

63.

Bekha pought an item for Rs. 4000 and sold it for a gain of 35%. She purchased another
item with this obtained amount and sold it at a loss of 20%. In this overall deal, she gets

(1) 10% gain (2) 15% loss

(3) 10% loss ' (4) 8% gain .

B a8 S99 & 4,000 £, TID 35% oSk V. B SH Fs I
SHS §I, TV 20% SH50SH eRph. & Indo oI A Jody & FoTd.
(1) 10% eresisos (2) 15% Sgso

(3) 10% S35 (4, 8% e

64.

A father shared an amount of Rs. 33,201 to his two sons and their shares are invested at a
compound interest of 4% per annum. If the amount received by the elder son at the end of
2 years is the same as the amount received by the younger son at the end of 5 years, then
the share (in rupees) of the younger son is (Take (1.04)3 as approximately equal to 1.125)
2§ Sod 6. 33,201 o 35 agh HIrdHot Bod, Tb wro FO5 4% SESEs
T..‘:i;ga:&"‘aéga*d:. 'iz-géz:airdacin 2 Joddyoine sdhTd oo Ando, ﬂsﬂ;&.‘ﬁrd:-éo
5 Sosggsne Shad 2ol DdSnsH J8rds0 wond, DHRIEEO S
(Eraromed®) ((1.04)° B, Gearonod) DenSdo 1,125 m &08%cd)

(1) 14826 2) 15624
(3) 17426 (4) 16382

6.

BYoBSOBS I0FS0 (Er2rofod’):

A person borrowed Rs. 3,000 at 8% per annum simple interest. At the end of first and
second years he repaid Rs. 1,200 and Rs. 1,300 respectively to reduce his debt. The amount
he has to pay to clear off the debt at the end of third year (in Rs.) is

28 558 6. 3,000 0 SoS3ods 8% oSG B THYS wHT BEIH. wsk 88

ety ShotoF Rtk 30ES BB Bodd HosSHBine DIES Scdm Sr. 1,200
So0050 6. 1,300 o BB, e FOT BENLL Srdd JodGHorosind vk

(2) 960.75

(1) 936.50
(3) 975.46 (4 98635

___.______.—-——'—_
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".".-'hatfum “"”. amount to Rs. 320 in 6 years at a rate of T T ———
Rs. 1.706.36 will amount to Rs. 3.412.72 in 20 years at the same rate of simple interest?

& 1,706.36 3 28 986 wrHhBd Tl S8 20 Sosg)sive sos &g Boogsd
8. 3412.72 008, of oS Tk 6 HoSdEEne SerdE &, 520 & BpEsno

R Sy dod
(1) Rs. 380 (2) Rs. 400
(3) Rs. 425 (¥ Rs. 360

67. T:her;a was one silver coin for every (hree copper coins with a numismatist. If 10 more
silver coins are added to his collection, then the ratio of silver coins to the copper coins
became 1:2. The total number of coins present in his collection now is -

o8 IBInoH DEdoH $g8 I B8 Sl ooh RS, uE 308 TBHN TIE
503, H6' 10 Jod THIWODH ©E) DECRH 2ETLSIYE ©8 5 fo 308
So0akn o7 TR Hdy do A 1:2 wowsa. Giyde w8l 3§ fo Indo TB30VL
Sopg.

(1) 60 (2) 80

G 9 (4) 100

68. The sum of] a two-digit number and the number obtained by reversing its digits, is 66. If the
digits of the given two digit number differ by 2, then the difference between the two possible
such two digits numbers 1s
o8 Codose Jowgs, TS wWosON ghird Do IWy Jopgd Seodm STy
3ngo 66. & S Todose Jopge Y wose SoFgREsn 2 wond, wirodd Sodd
Dedhy Bodosy Dopge AN, Bo.

(1) 15 (2 16
3y 15 (4) 22
69. A boat goes 30 km up stream and 44 km down stream in 10 hours. In 13 hours, it can go

40 km up stream and 55 km down stream. Then the speed of the boat in still water and that

of the stream (in ki/hr) are respectively
10 Kobos® n 385 HTH08 $5808 ¥ 30 8., Sobek» PIFTaFS” 44 8.a0.20

3o, ©b 13 dobes® Pl S;Fsds” 40 8. .05 oD PTTEIS®
55 8.0 o, wond dofdm &) MBS DESTAB Hdos EHaESrSn

S&dm (&.0/Ko.08%)
% 52
3) 5,3

(2) 6,2
4 8,3




70.  The present cost of a machine is Rs. 10,000. If it depreciates at a rate of 10% every year,
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it will be valued at Rs. 6,561 after
(1) 3 years (2) 3% years (3) 4 years (4) 5 years

¥ cDoEHn Sy, BHE deod &r, 10,000. B8 PoIHto T ISV Ehde
Téo 10% 2005S, od Jend &r. 6,561 m s5@d8 58 Scho

(1) 3&056‘&65&3@; (2) 3%’ SodedDaen

(3) 4 HoS&dsnen (4) 5 HoSd)Esnwm i

Tl

If the 27, the 31% and the ' term of an Arithmetic Progression arc respectively

1 .
7 and — 65, then the sum of the first » terms of this progression is

1
“n

| w

28 ©osFE&S0s 25, 315 Hboin 7% Doren BB ?%,-12" £38050 —6% ©o0d,

© WoiEAS508d IndE n dore Indo

1 1 1 3
1) 44— 2) 48— 3) 51— 4) 52—
(1) 445 @ 48 @) si3 @) 523

e

7 21 3

7 3
(1 — @ 15 @) 7 4) 1

13.

-
16-B

If four cards are drawn at random in succession from a pack of 52 playing cards without
replacement, then the probability that they are all ace cards is
2, & Déy DEsLes He 52 *ﬁagsﬁwﬁbm H0b LEI Soqd .88, SRS ¥ S s Sode

4 ggires® 58 Bobhdom, Trenih HE S o drdydtor &), @l Toxir Blien

s3ERE o Doardgd
l 1 1
(1) Jsa145 ) 70725 ) 15025 (%) 260625
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74. If twonumbers are chosen at random from {1, 2, 3, 4, 5, 6} at a time, then the probability

that the smaller of the two is less than 4, is
{1,2,3,4,5,6} &008 ofr&yNsom ok wosed e8rd Jobsty, @ Bodd Sopgdd

528 dopg, 4 g0 258 3B fo Eﬁﬂﬂ‘éﬁé’i:

® 3 @ < 3 - g o
» 3 5 ) = @)
75. Two dice are thrown at a time. The probability that the sum of the numbers on their faces 1S
a prime number is
Do FDfod o338 GeodT . T8 SugroR do dopge dwdo, a8 HFS J0Pg
sR@s Mo Doerdgd '
5 ;) 1 1
AR @ 3 3 3 @ 3
76. Where the island museum is located in Andhra Pradesh?
(1) Viayawada (2) Salihundam
(3) Kolleru (4) Nagarjuna Konda
o GHBF50c 28 Seddnd® JBodng SHEBEGHITe IfHh sod?
(1) Dacoad (2) #dvodo
(3) §8& (4): g8 od
77. The first split in the National Congress occurred in 1907 at the following given session
(1) Surat session (2) Nagapursession
(3) Bombay session (4) Calcutta session
0% sropRe’ 3ndel o8 1907 S* 8ol DEYN dSrIdos” A6)d0H
(I} #rdd [SrIFsw (2) Y eSS0
(3) Soeron HIPIESN (4) Sosg SSrafsn
78. In Andhra, the first widow re-marriage was done by the understated.

(2) K. Veeresalingam

(1) Gidugu Ramamurty
(4) S.MuddaNarasimham

(3) Gurajada Apparao
es0eS* TnQBEE Jodd AT corfol Fth 2020w d
(2) 8. d6¥doio

(1) Ak o°osarg
(4) oDB. S0g $8PoI0

(3) Hoderd @&JE"@
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79. *“The Khudai Khidmatgars” were also known as
(1) Black shirts (2) Yellow shirts
(3) Red shirts (4) Green shirts
208 DESTE)” & dgorr Sra PRE e
(2) 3¢ Tspen (2) HR0H TEYLO
(3) A Ty (4) oo sy
80. Roman coins are found at various sites of Andhra that belong to the period of the following:
(1) Chalukya (2) Satavahana
(3) Kakatiya (4) Vijayanagara
808 2O S0AIT88 BodS 5'w0&° WS I Fodros’ FH THes &85 ow.
(1) =8 2) TS>HS
(3) =88 (4) DewochsSKd
81. The following award was not presented to Abdul Kalam.
(1) Padma Sn (2)  Padma Bhushan
(3) Padma Vibhushan . (4) BharataRatna
§od YOI oo’ wad Ui aIUEdowad
(1) 368 (2) DEFrAS
(3) S&RFTRes (4) erd&ss)
82. The Administrative consequence of the Revolt of 1857 was the transfer of power from

one to another as stated
(1) East India company to the British crown

(2) The British crown to East India company
(3) EastIndia company to the Governor General

(4) British crown to the Board of Directors
1857 @& oeren S8gdrSom HdFoT Hborr ©isE 3508 288 Sod 2,888 cwer

Sr8od.

(1) &%oBasr Eod So08 DERCSE
(2) DB2TB 508 &Y AT o8
(3) &Rolair o Ko K585 13868
(4) OBRoSB $0b G B BEEEE

18-B
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Nannaya has written ‘Mahabharatam’ into Telugu at the following place

(1) Amaravathi (2) Nellote

(3) Rajamahendravaram (4) PedaVegi

3Z)oh ‘HDFersed) Beooks® orBod Bhed @Fodost \grrd.
(1) ©5050 (2) Bord

(3) oasrotsSso (4) &3A

84. The Revolutionary that died in the Jail due to his hunger strike
(1) Bhagat Singh | (2) Jatin Das
(3) SuryaSen (4) Chandra Sekhar Azad
2end® @8 JoHERE s 8mom 68odd DHSsrdd:
(1) K8 Dok (2) 285 o5
(3) Jroges (4) Soind werd

“Kondakarla ava™ is located in the following District

(1) Srkakulam (2) Nellore (3) Visakhapatnam (4) Krishna
“Fodiy BS5” & (§od 2erd® ol
(1) &5 %o (2) Sord (3) depagmo (-’—p. 53

6. Belum caves are situated in which District
(1) Chittoor (2) Kadapa (3) Srkakulam (4) Kurnool,
Beno HFTod &) Ber 287
(1) déx6 (2) E&S (3) §5Swo (4) $Emed

Lord Lytton was not associated with the under stated

(1) ArmsAct (2) [Ilbert bill

(3) Vernacular press act (4) Stratchey commission
g QS Bod BHWES TS’ Howodio éé;?{'jdﬁa.

(1) wodnoo Késn (2). axyf d

(3) &8 Jg5 Sho (4) TO A

Gandhi’s first satyagraha in India began in Champaran (1917), that situated in the following
State.

(1) Bengal (2) Bihar

(3) Uttar Pradesh (4) Punjab

erEEd oSt mod &3 I dergrista) DHGES SorES (1917) @ oogoes” Eod.
(1) Forrs (2y &HHE (3) &SYBa5 (4) Howd

19-B
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. e .
e Women'’s Indian Association’

Who among the following was not a founder of “Th
s /

(1) Margret Cousins (2) AnnicBesant
(3) Durgabai Deshmukh (4) JeemaRajaDasa |
% 1Bod T8t ‘a &) 208009 @ga:-)f;;.d;’b:lg ﬁgﬁﬁé‘ Homoo BIATE

(1) 706 s (2) @DV

(3) oorercd dFswd (4) & T TP

In the following who was not the son-in-law of Rudhrama Devi

90.
(1) EllenaDeva (2) Annayamathya
(3) Mahadeva (4) Prasaditya Nayaka
& 1808 T0S° HIBSHAD vk FTITVIE
(1) Qo= 85 (2] ©3)csr Srég
(3) JoF3dS (4) @arddy Trods
o1, tﬁi&t which session of the Indian National Congress ‘Vande Mataram’ was sung for the firs
me :
(1) 1896 Calcutta session (2) 1908 Madras session
(3) 1895 Poona session (4) 1899 Lucknow session
S oBSrESS DoSBID D rEd wlak RS H5rIToSt FdLo 28hB
(I, 1896 Swbg; Sirddo (2) 1908 Sogrde HITHIO
(3) 1895 o JdS-3d0 (4) 1899 oF) ddrddo
92. Which of the following temple 1s very popular for paintings?
(1) Draksharamam (2) Lepakshi
(3) Simhachalam | (4) Ontimetta
08 woosrg; DEEER B BodEE GB?
(1) (P 5 070 (2) 8§ (3) BodFBwo (4) =083
93. Who among the following resigned to the membership of the ‘Viceroy’s Executive Council

e e
20-B

inst Jallianwala Bagh Massacre

as a protest aga - 1
(1) Shankaran Nair (2) Dadabhai Naorojt
(3) Motilal Nehru (4) Subhas ChandraBose

Boko DEHSM PFOD d[Erglio T

1Bod TS D58 2O eereerh S8R0

Sagdgsnst odadr BT
(2} oD Io2

(1) #0865 &odd
(3) IrdoS I (4) DR $oBBR
O 2
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94, One among the following has not served as a Governor of Andhra Pradesh

(1) RamLal
(3) Kumud Ben Joshi

(2) SaradYadav
(4) K.C.Abraham

§08 TS ISH woPRRT KIS HIToHBs

(1) o oS
(3) &5n& BS £

(2) 465 GirdS
(4) 3.0.opdo

gs.

Gandhiji became the President of Indian National Congress in which session
(2) 1925 Kanpur session
(4) 1926 Gauhati session
8% 80D FofiM ) JMSraFod’ modd edgiddlg
(2) 1925 s8myb ddrBdo

(1) 1923 Kakinada session
(3) 1924 Belgaum session

(1) 1923 srdard SS5rddo
(3)y 1924 B “8rddo

(4) 1926 T8 HdrRo

96.

The Simla Conference was held under the Viceroyalty of

(1) Lord Linlithgow
(3) Lord Elenborough

(2) Lord Wevell

(4) Lord Northbrook

P37 J8r3do O 3ok S0t durodwdod

(1) orf O30SH
(3) g BT

(2) o I3S
(4) o§ T8ps

97.

Jyothi Rao Pule constructed the famous organisation
(2) Satya Parivartan Samaj

(4) Satya Rakshna Samiti

(1) Satya Sodhak Sama]
(3) SatyaKartavya Samaj

S500°5 S FoFYS WEdY o

() H8gT6E darao
(3) RegEYSg RETE0

(4) ®dgbgem VW

(2) HEgDHOSES Hrzo

98.

Telugu Literature was highly encouraged by

(1) Percy Brown
(3) David Brown

whom?
(2) C.P.Brown
(4) Robert Brown

ool Firengd) VEGHEOT PEIrodS TOSE

(1) 2 &=
(3) @2k @<

(2) ‘D0 &S
(4) oaf @9

i
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99. In 1918 ‘India In Transition’ was written by
(1) AgaKhan (2) M.N.Roy
(3) B.GTilak (4) LalaLajapati Roy
1918 &° 208008 ‘RodaSr ¥ ErYAS Ko dsd
(1) orrars (2) I%.98. T
3) D.z.&of (4) eror oudST R
100.. The rate of evaporation of water is inversely proportional to
(1) Areaofthe surface 2) Humidity
(3) Temperature (4) Wind speed
O erayfSS Bt B8 IS SrRordod” Gwotnod
(1) &Hb80 Izogsm (2 g8
3) e 4 o 58
101. The intensity of scattered light is maximum for the angle of scattering given below
QNS I HOEH Ferd8 HBEIw 5708 &I {630
£l D2 (2) 45° (3) 90° (4) o60°
102. Acceleration due to gravity is independent of
(1) Mass of objects
(2) Mass of the planet
(3) Height from the surface of the planet
(4) Radius of the planet
Hothdy Sodrodn B BEEHE
(1) SHdeo (BI350°3 (2) s Qg (KSgo3
(3} 15 GrHbgoo ol I8 (4) @S5 argrdsn
103. Ifamotor of power 10 HP runs for 100 hours then the number of units of electrical energy
consumed 13
10 HP &Soggdnie Soirdd 100 Kobren BBASLONS v& IIBrNoHRS) ddogd
olrdde Dowg
(1) 100 (2) 1000 (3x 74.6 (4) 746
104. The audible range of sound waves for human beings in kIlz is

SrHPLo ISEAS ¥y oo os5& kHz SISy
(1) 0.01-10 (25 0.01-20
(3) 0.02-20 (4) 0.02 200

22-B
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105. The ‘Manganin’ used in standard electrical resistances contains

(1) Copper, Manganese, Nickel (2) Iron, Magnesium, Nickel
(3) Copper, Magnesium, Iron (4)  Iron, Manganese, Copper
(F57ed8 dgd ATeom T8 SrofAISS' &odd
(1) oA, SroiaD, JBS (2) =adsn, Difaddoe, T3S
(3p oA, Tohihobho, addw (4) =, SrordR, ooh
106. If external force acting on a body is zero then its linear momentum
(1) Zero (2) Decreases
(3) Increases (4) remains constant
28 509D HITD avirgueo i85S vond T dhab (ESgEKEm
(1) &rdgd (2) &rfpsood
(3) &Mool (4) POEDT €0t
107. Identify the method involved in separation of components of liquid air from the following:
(1) Distillation (2) Steam distillation
(3) Sublimation (4) Fractional distillation
B3t dobsrod DHUHENE wNd@riol IFdod Bodadis” fifownn
(1) gs&o (2) 08 B8 TgESo
(3) &80 (4) ©o8 gBS0

108. Identify the pair of compounds which obey the law of multiple proportions.
2FcFE JoHEr) FHoB HITe 2ok Howdw.
(1) CuO,Cu,0O (2) H,0,H,Se
(3) CuS,Cu0 ) NaCl, NaBr

109. Identify the pair of ores which can not be subjected to roasting from the following:

(1) Zinc blende, Copper iron pyrites (2) Galena, Cinnabar

(3) Magnesite, Pyrolusite (4) Zinc blende, Cinnabar
806 D 28 THHo HEE BEHS SHBHE HBoHI»

(1) 20E Bo&, 57H6 =6S PVEH (2) Ada, 36

(3) Srifypd, pSloagpd (4)- 2of Zob, s
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110. The only chemist ever to receive two unshared Nobel Prizes - one for ch{:mlstry and another

for peace is )
(1) Alfred Einstein (2) Erwin Schrodinger ;-

(3) LinusPauling (4) Neils Bohr
SBE 2TVHEI SFeDSTRHS® HB0KD Tod JgrreS” STEOE u::or.‘.’n?é}oa‘“ 2§70

Coary wodksH Sarahd TH38
(1) sB)& =89S (2) 20850 X&oiS
(3) 855 200k dy 28 6

111.

The pair of stable covalent molecules in which the central atom is not obeying the octet

rule is
(1) Methane, Carbon tetrachloride (2) Beryllium halide, Boron halide
(3) Ammonia, Water (4) Carbon dioxide, Acetylene

TolBE HESre0H wRE QoNSrd) FEowERFondnIs ’gd@éﬂm &) HHRATEAOR

Lde 2o0d

(1) BS, 5°6S Dersss (2) BbOcho FBE, oD T8
(3) ©IrRasr, D (4) sER-B-wsh, I0BAS

112. Which pair of groups represent the most reactive metals, most reactive non-metals
respectively in the modemn periodic table of the elements?
Sirose eI widsS HBES” o8ghs arlvddo ST, wdgls Eodreedie
wetSfen Ko () 20l J6?
(1) 1,16 (2) 2,17 3) 1,17 14) 3,16

113. The colours of the solutions, when methyl orange indicator is added to acid and base
respectively, are
(1) Red, Yellow (2) Green,Red
(3) Blue, Red (4) Yellow, Red
2B wor D L@ H08, 56 [rd@osy SODIYW A Gohen IKdm
(1) D, DY (2) e8id), A0DH
(3 dewo, 5D (4) 320D, 0D

114. Hydrolysis of X gives acetylene and hydrolysis of Y gives methane. X and ¥ are respectively

2odTam S6gs* X J0BOSH, Y 030D aud. X, Y e S8dm
(¥) ALC;CaC, (2) CaC,ALC; (3) ALG,Be,C  (4) BeCAlLG
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115. Match the following :

List -1 List-II
A) Transport of water from root to shoot I)  Translocation
B) Loss of water from stomata II) Osmosis
C) Bulk flow of substances IIl) Ascent of sap
D) Diffusion of water across semi permeable membrane IV) Transpiration
2EH8H S0

e - | s - 11
A) F8 Hod 5o B BI8o ) FTodde
B) 3Jgozre T0c B FOHHo II) @Gaddde
C) dogo d&Zrd o ) ESgavo
D) =g >dhSgdsto Ty A8 agdso IV) eratydo

Choose the correct answer
DOSNS JDIrTTR) 205" Fo 50

A ® (© (D)
(1) I¥ I II 1
@ m ¥ 1 I
3) I I I\Y% il
(4) Il 1 v I

116.

Special group of chlorophyll molecules undergo photo-oxidation in photosynthesis can

be designated as
860y HoRrKBohe’ 5708 sb)§Cnt SUradd BBgs 08 SGage DSNT AT

& Do Jrdndo
(1) PSI(Pyqp), PSII (Pggo) (2)- PSI (P700), PSII (Pgso)
(3) PSI(Pggq), PSII (Pgap) (4)  PSI(Pyy0), PSII (P720)

117.

Enzymes involved in both photosynthesis and respiration are
I) Aldolase ) Triose phosphate isomerase

[l Hexokinase IV) Malic dehydrogenase
Egranisy MocirHBoR HBcin TERED B0BoBS S ISV 0B

) =g38 ) @Irs S DS
o) =reyE38 IV) 508 &@'E38
(1) LILIV (» IILIV (3) LILIV (4) LILII
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related to Fy generation.

118. Choose the correct pairs from the following

I) Monohybrid cross -3:1
) Dihybrid cross - 9:3:3:1
[I) Test cross -1:1

. IV) Incomplete dominance - 1:2:l

F, 50888 Sonodod $08 aduss B8 dg0d JEFHE

I) 9% J088 Hosdedn =5

) &5088 Sofdsdw - 9:3:3:1
) $H68 So¥Sradw - 1:1
IV) wdolrg wirdsdisn - 142 &
(1) LILIV (2) ILILIV (3) LOLIV (4) LILII
119. Observe the lists and choose the correct combinations.
~ List-1 List - 2 List - 3
A) Monera D) Unicellular with no membrane bound nucleus ) Amoeba
B) Protista II) Unior multicellular with true nucleus b) DBacteria
C) Fungi [ll) Unicellular with true nucleus c) Fem
D) Plantae IV) Multicellular with true nucleus d) Mushroom
Bobd Do KSR HBGHI HoE¥doHhois Hotobd.
=Ho - 1 e - 2 e -3
A) 3ndo ) #5082 SoB¥orio I8 e £ a) wdoer
B) &8y M aefogsory D€ B wiv Sedd b) =§oosr
C) 30cper ) Dedoibolin € Keodd c) »§
D) &Spczge 1IV) QzBodiofe wiro Sndd d) Dy
(1f ALb B1ILa ClILd D1IVc
(2) A,LDb B,IL,a CILd D,IVic
(3) Ala B,ILb C,ILc D,IV.d
(4) AILb B,JLa CIvd D.lIlLc .
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Assertion (A) : Mitotic cell division takes place in body cells, while meiotic cell division
takes place in sex cells.

Reason (R):  Chromosome number reduced to half in mitotic cell division and same
number of chromosomes is retained in meiotic cell division,

(1) (A)and (R) are true; (R) is correct explanation to (A).

(2) (A)and (R) are true; (R) is not correct explanation to (A).

(3) (A)istrue and (R) is wrong.

(4) (A)iswrong and (R) is true.

IPBo (A):  HHIeS @) 08 Eeros’ atoikHidod, wand EoEsn dFad Hega)d
Eeroes athibhaésod.

256w (R):  9%008as EdrarHe dopy dmdd dRodadids Hbakn Edsdn
DefedSSt FRrFDe dopg Bor &otool

(1) (A) S08ain (R)Bods $6&08D; (R) 036 (A) & 20gs dddeo.

(2) (A)58c5w (R)Bodr 28¢053; (R) wda (A) 8 DOGE@ID DHGe 5.

(3, (A)HORass Hobakn (R) 203G se.

(4) (A)$BR8B e 0050 (R) 9006,

121.

Ratio of tall and dwarf garden pea plants formed when a tall (homozygous) garden pea
plant is crossed with a dwarf garden pea plant.

pf FEH (HHocinsso) 2O 308 & 28 2E*0 INE,E 205800 HosHd 8@

FED 00050 F 2o G AP
(1) 3:1 @Zr 1:2:] (3) 1:2:1 & 3:1 (4) 1:0

122.

One of the following is not an enzyme. Identify it
(1) ‘Trypsin (2) Gaslrin (3) Pepsin (4) Steapsin

Bob TES® 28 JoFHN S, TA KBowok
(1) & (2) m@s (3) 2y (4) RS

123,

Cold blooded animal with four chambered heart is

(1) Polar bear (2) Whale

(3) Penguin (4) Crocodile
Tenk Ko Kol EOAS e dE o8l h8otod.
(1, &30 Joodemedd (2) 8oreoc

(3) ofge (4) 30k
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124. Match the following :

No. of chambers in heart

Animal
A)  Shark [) Thirteen
B) Frog I) Four
C) Cockroach IlT) Two
D) Whale IV) Three
| V) Five
Bod TBR 28BIPod:
2080 $03e5°0 e domg
A) 535 ) H&8Bardd
B) £% ) e
C) & Hog IM) Bok
D) é&dvodeo IV) Hocko
V) =2do
Choose the correct answer
JBGHS JIPETR) ISYTSos®
A B © @O
() m v 1 \Y%
2y mM Vv [ I
3) I I |\ 1
4 v IO I I B
125. Erythropoietin - necessary for the production of red blood cells is secreted by
(1) Kidney (2) Liver (3) Spleen (4) Bonemarrow
JBEEEro BS1Q8 ©SOEZB JBIS’ > 0NN PR
(1) Sorghodo (2) s Boo &) %ﬁ‘o (4 DS0E Sog
I
126. The slogan “Think globally and act locally” was given in
(1) Earth summit (2) Kyoto protocol
(3) Montreal protocol (4) Chipko movement
"G R 980 edDodod - FIsom é;}o&-mﬁo&" ©d hHeod 2058
(1) ¢od Jady (2) §gs® @essS
(3) SroBohd FEsO (47 299, e8gso

28-B



! y
FRESHERS NOW

PS Booklet Code :

127. Number of chromosomes in Turner syndrome.,

LHE BoOFDNS® God FIrS0 Domg

| (1) 44 (2) 45
L) 46 (3y 47
E 128, [dentify the mismatched pair.
| (1) Snow blindness - Infrared rays
' (2) Green house effect - Methane
(3) Ozonedepletion - Chlorofluoro carbons
(4) Biomagnification - Benzene hexachloride

S0 TES J8s°R 28 KBotod
(1) = gcﬁﬁ:ﬁ

Sordoen 8dsmrend
(2) 08 Ky Barso - HdS

(3) &sS feod - Y6 R
() 25 a’:aﬁ_mﬁdm BodS rs)§oh

129. State bird of Andhra Pradesh.

i (1) Bluejay (2) Rose ringed parakeet
| (3) Peacock (4) Bustard
I SoHBT oR SES
; (1) ool ; (2 oHoDeoE
| (3) 30 (4) wig@s 58
[ 130. ‘Ramachandra Panduranga’ is the other name of the following revolutionary
(1) JagannathaPayak Rao (2) TantiyaTope
: (3) Atmaram Panduranga (4) SukhaDev
& |Bod DPISTHE HTED ‘Tdodold Fodadol.
(1) =zdam8 Fohios (2) &ocddsr &
(3) wamo Foddol (4) ®opdd
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131. In the state of Andhra Pradesh Upasarpanch of a Gram Panchayat is elected by the
(1) Voters of the Gram Panchayat
(2) Sarpanch ofthe Gram Panchayat
(3) Sarpanch and ward members of the Gram Panchayat
(4) Ward members of the Gram Panchayat

BOFDBT TR IS wf rHdoTond SDIGYeTE Bod &8 QDNToLrd

(1) S dowrowd Lo

(2) ™5 Domona Yol

(3) {1{7"53 Dowrond B80T DB T8 dabgeww
(4) 1 Jomrond ooy debgen

[32. The tenure of a judge of the Intemational Court of Justice is

(1) 9years (2) 6years
(3) 5 years (4) 3 years
wodgdah TgoPSING® e Tgahird KT
(1) 9 JoSHoren (2) 6 Dod&Horen
(3) 5 Doddorew (4) 3 Sod&éyoren
133. English is the official language of the following state in India
(1) Goa (2) Nagaland
(3) Uttarakhand (4) Assam
T ESBI50S $od THING' wolf i 08S Y A Sodk
(1) A= (%) armreroc
(3) wdowpod (4) oo
134. In 1969 the Chief Justice of Supreme Court of India officiated as the President of India
[dentify the person.
(1) Justice S.M.Sikri (2) Justice K.Subba Rao
(3) Justice M.Hidayatullah (4) Justice PN. Bhagawati

19696° 268 HoDoEE WS TgohBrdm $Had e 8 ords oo Han
SgSsrbowrd. a8 HBowod.

(1) 2% IR0, 8 (2) =[] B.doemo
(3 225 I SESWEATS, (4) =230 2.5, FKID
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135. In the following case, Supreme Court of India gave a judgement that the Parliament has no
power to amend the basic features of the Indian Constitution

(1) Golaknath Case 1967 (2) Kesavananda Bharathi Case 1973

(3) A.K. Gopalan Case 1950 (4) Champakam Dorairajan Case 1951

ardd Trargofand® 5398 oferoid 5008 vwisio FFA0EnL BED TEE @oEE
& 80D TST AL 0d

(1) Fobas 0, 1967 (2) Ed>Sos or6d B0, 1973

(3) Q3. Fdros 8, 1950 (4) . Song &ooras 8k, 1951
136. Directive Principles of State Policy are borrowed from the constitution of

(1) America (2) Bntain (3) France (4) Ireland

uBd drEroH 1§ob Targoibn 08 IroBd S

(1) odse (2) Bos (3) wra (4} mﬂ;aﬁ
137. The house which is presided over by a non-member of the house

(1) Lok Sabha (2) RajyaSabha

(3) Legislative Council - (4) Legislative Assembly

DS Dgogdy 570 558 RerSgiodm &) O
i (1) <83 _ (2) oy 96

(3) S HoAS (4) o HF

138, After bifurcation, the total strength of Andhra Pradesh State Legislative Council
| o Ofed Shad wogEdE g S SRS wdo debge dowg

(1) 40 (2) 45
(3) 50 (4 54
. Who is the first person scientifically estimated the National Income of India after
independence?
(1) DadaBhai Naoroji (2) V.K.R.V.Rao
(3) William Digby (4) R.C.Desai
Fedo@gSoddsn T Rodtrom FRoH HES" 2 BoSrmroDInG wodT WNT
wDRE?
(1) oaroh Fo'= (2) 2.3 wb. 2. TP
(3) DochR &n) : (4) esbd. Tl
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140. Which of the following falls under service sector?
(1) Handicrafts (2) Sugarindustry (3) Poultry (4) Hotels

808 >8S* Hardomrds BodIS D867
(1) Bosysmeo  (2) w$§8 s6Es  (3)

141. Who is the father of India’s Green Revolution?

(1) M.S.SwamyNadhan (2) V.K.R.V.Rao
(3) S.Gande (4) P.V.Narasimha Rao

TESHE S08 DS Do SGod JSE?
(1) Do. 8. FgaEs

(3) 2%. rod (4) 4
Which of the following program was designed in the year 2000 by the Central Governme
to provide connectivity of roads and transport to all villages?

808 TSt 2000 3 HoSES0S* TodBehdso ', b TET RN BJ) (FErel
£0)0DLHMD DHITDES 880 A8?

(1) PURA (2) SGSY (3) PMGSY (4) SSA

In which year the program Mahatma Gandhi National Rural Employment Guarantee Schem

(MGNREGS) was launched in India?
2 B03HHBoS* TR FEL rArn GO TN IS0 rEEDTS” PITOLAIE

£g) soEFse (4 Fog

Q) 2.3 66 2. T
Py, ., $8DoF* oY

142.

143.

(1) 2001 () 2005 (3) 2007 (4) 2014
144. “Sri Bagh Pact” was signed by the Andhra Leaders at the place under stated
: (1) Vijayawada (2) Madras
(3) Kurnool (4) Tirupati
Bod BBY@BS BRI so@Tahthren erh wdonds’ Jtodsen Ded
(1) Ddauchad (2) Sowdo (3) s&men (4) 8%dé
145, The Book “Castes in India-their Mechanism Genisis and Development” was written by
~ (1) MN.Roy (2) VD.Savarkar ‘
(3) MK Gandhi (4) B.R.Ambedkar

“s@n oo Rodalr - Qb’ 5 AR, BIND Vob BI0DHI0” w Bom) ST
2) 2.8. >,

(1) 2%.05. oo
(3) cH®I. mod @) Db wod &
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[ 146. ‘Mount Batten Plan’ is also known as
(1) June 3" plan (2) July 14" plan
(3) August 15" plan (4) September 5% plan
STolieriin PerdE’H SIS Srae Fuwedd
(1) =273 3 Deo®8 (2) =8 14 Beo9s
(3) efiRlS Heo 9y (4) Romdy 5 e
147. Which session of Indian National Congress passed resolution on, ‘National Economic
Programme and on Fundamental rights and duties’
(1) Lucknow session, 1936 (2) Lahore session, 1929
(3) Karachi session, 1931 (4) Delhi session, 1932
88 28cH Fo|fd @ng) b dErdfod’ wrdcdH efE SUgEEE0 S8 TGS
Téo,e0, rEgde E&U“éa’::;ﬁaa' BRrBoT S
(1) o8y d57370,1936 (2) o6 $arddo, 1929
(3) gord HSrRd0,1931 (4) &8 $3:370,1932
148. Gandhara Art is the contribution of the following dynasty
(1) Maurya (2) Kushana
(3) Sunga (4) Gupta
mod Fo)EE oo od S0 FARTA
(1) &7¢g (2) Soirm
(3) Hofs (4) o5
149. Who was considered by Gandhi as his political guru )
(1) Bal Gangadhar Tilak (2) DadaBaiNaoroj
(3) Maha Deva Govinda Renade (4) GopalaKrishna Gokhale
mod #% oruloh HHH™ 56 FrdoTdd
(1) o Komrgb 8ol (2) oroeroxn 36
| (3) %E5 Koo B3 @) Faroly Fpd
' 150. Vijayanagara kingdom is completly disappeared with this battle .
1 (1) Battle of Penugonda (2) Battle of Kampili
(3) Battle of Chandhragiri (4) Battle of Topuru
_ DachSis Seego & oiogod® EiSaSo o d3agdo
(1) iFob ago (2} €020 cngo
?E» (3) BoEhd asto (4) &> oogo
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151. Which is not affected by the “Policy of Doctrine of Lapse’.
(1) Sambalpur- 1849

(3) Nagapur- 1854

(2) Udaipur - 1852
(4) Berhampur - 1850

TragoEimn DEFody) rBRIEIS J67?
(1) How&Hrs - 1849

(3) ~x3r5 - 1854

A) &BcDLrs - 1852

(

4) 8ord - 1850

Swadeshi as a purely economic measure for the development of Indian Cottage Industry

152.
was preached in 1840, by
(1) B.GTilak (2) LalaLazpati Roy
(3) Gopal Rao Deshmukh (4) Aurobindo Ghosh
1840e5* 5534 Srigrd), ar68aH 86 HOEFSrHS)RE &8 LTS eE So-gor $°00
(1) 2.2 sof (2) wrorozdd oo
(3) AZreoocd BFTS0D (4) @iJo& H5°a
153. Match the following ) J
a)  Delhi 1) Sir Colin Campbell
b) Kanpur 11)  Sir Hugh Rose
c) Lucknow iii) Major General Home Lock
d)  Jhansi iv)  General John Nicholson
228580050
Q) &9 i) %6 S 508BS ']
b) s ii) 26 Jogh &8 i
c) o8 i) Hozd 23585 FF of
d) &) V) =565 a=rn AEFSHI
(1) a(i) b(ii) c(iii) d(iv) (2) a(ii) b(ii) () d(iv)
(3) a(iii) b(iv) c(i) d(ii) @) a(iv) b(iii) c(i) d(ii)
154. The length of a day is longer than the length of an year on this planet.
(1) Mars (2) Venus (3) Jupiter (4) Mercury
& (oo nd wEfer Eidreo wf Dodddo Wirwo oB I8y D
2) Do S o
(1) soarchd (2) B (3) ayTae (4) engod ,
155. The time difference between two towns located on the equator is one hour. The variation!

the longitudes of these towns would be
S oD Ko Doty DT Sgg soSgETgh0 wE Kok, & AL erre TyroTo .;ngrgﬁl

(1)

15°

(2) 30°

(3) 45°

(4) 60

a —_—
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156. This wild life sanctuary is the largest Tiger reserve in India.

(1) Coringa wild life sanctuary

(2) Koundinya wild life sanctuary

(3) Pulicot wild life sanctuary

(4) Nagarjuna Sagar-Sri Sailam wild life sanctuary

& Sgi@rene @Fairgngo rESGFoes wEDY Hweo S Fodo
(1) &eomr Sdg\are wgairEgo

(2) §o8dy H85Tred wefosirdmgo

(3) JOsE ;':a’sg@wﬁ WIS Seago

(4) SrRsS 66 - gFvo Sy wcskrsmgo

. The hottest place in Andhra Pradesh is

(1) Viayawada (2) Kadapa (3) Rentachintala (4) Guntur
SoPBT o"Rosodd wdgy @odo

(1) Ddezchard (2) s (3y Tob Qode  (4) Dol
. The lowest temperature recorded in a day:

(1) Before the sunrise (2) 02:00 AM

(3) 12:00 midnight (4) After the sunset
LE8d” vdgu) G FBYd SIrEYE0s

(1) “r&gEairds 500 L (2) w&cho 02:00 Kook
(3) ogo@ 12:00 fotowsd (4) Joroghlocho Sogd
. Match the following :

List-1I List-1I

) Kambalakonda A) East Godavari

) Nelapattu B) Kurnool and Prakasam
[II) Coringa C) Visakhapatnam

IV) Gundla Brahmeswaram D) Nellore

§ob T3 2¢DHBR0

DS - =da -1l

[) Eoerofod A)  d&rdy Fodd

M) Sedeyn B) gdmen Sofain @8E0
[ &80k C) dwdty)o

V) ot eerydgdo D) Rozd

Choose the correct answer

SO HErEaR) IEYFIoD0

(y 1C 1I-D II-A IVB (2) -C oA M-D IVB

(3) -C 0B DA IVD (4) 1-B 1I-C M-A IVD
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160. The largest cropped area in India is irrigated by this method

(1) Canals (2) Tanks (3) Wells (1) “COnhiers

TESBI0S080 Hobrgrd RGeS wEHE Ko HIFTHoS’ VDS

(1) sensen (2) BSeHen (3) P (4) adoen 4
161. The Tea Research Institute is established at

(1) Darjeeling (2) Jorhat

(3) Ootacamund (4) Silchar

a}vdé'c'h‘foeﬁ" Bair HBFETBodo ag) & %&oﬁméoﬁ

(19 @8doih (2) £'o,&S

(3) es8ESodesn (4) 2end 4
-162. Match the following:

A) Hyderabad [)  Sabarmathi

B) Lucknow 1) Tungabhadra

C) Ahmedabad O Moosi

D) Kurnool IV) Gomti

Bob TEY =SEDHEBBD : -

Ear AL e - 11

A) ST D %268

B) o8 ) Sorgs

C) oI e o) Soed

D) &démeo IV) /A8

(1) A-TIV B-III C-1I D-I (2) A-II B-IV C-II D-1

(3) A-II B-1 C-IV D-1II (¥ A-lI B-IV C1 D-NI
163. This Prime Minister of India has laid the foundation for “Golden Quadrilateral”.

(1) Jawaharlal Nehru (2) Indira Gandhi

(3) Atal Bihari Vajpayee (4) Lal Bahadur Sastry

ESBTo B0, & PESH08 "R SEHEN2"E Hos S

(1) 255%6erS JHo (2) =oBomos

(3) oLE DF8 FE 0D (4) oF amsss o _____4-"
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Open Ballot System is followed in the election of members of

(1) Lok Sabhfu (2) RajyaSabha
(3) State Legislative Assembly (4) Gram Panchayat
8ol Lol Agso &god PEhgOS JENE HLoS® vdwodoButidol
(1) &°§ e (2) o=g 3

. (3] RS H (4) (S Jowrond

165. The tenure of Rajya Sabha

(1) Six years (2) Fiveyears
(3) Fouryears (4) Permanent House
orgRdy SPwHba
(1) es&H JodGoren (2 ot doddoren
(3) ~ewib doddhorew (4) w¥d 3

 166.

The Constitutional Amendment Act that lowered the voting age from 21 to 18 years
(1) 69" Constitutional AmendmentAct  (2) 61 Constitutional Amendment Act
(3) 63" Constitutional AmendmentAct  (4) 66" Constitutional Amendment Act

58,8808 Sohdnss 21 Sood 18 Joddorwse BHodS orargod DH58e Weyo

(1) 695 orergoil dS58ea W0 (2) 6135 oeargoll D58 B&o
‘

(3) 6335 orargod BS8ed WhHo (4) 6635 orargon B30 W&o

. The Fundamental Rights in the following articles of the Indian Constitution are available

only to the Indian citizens
A) Article 15 B) Article 16
C) Article 19 D) Article 29

@démwgcﬁ&:}e‘i‘:} Bods 287 PESeTrod’ o (P8 T8y w0 erdd e SeE@o

©HT0N.

A) 1535 HE8dmo
C) 195 HEde0 D) 295 D800
(1) AB (2) B,C

(3) B,C,D (4) A,B,C,D

B) 1635 @860

168.

The arrested person must be produced before the magistrate within a period of
(1) 48 hours (2) 12 hours (3) 24 hours (4) 28 hours

&}-:Saoﬁoﬂl‘é 558 808 0EY,N) dHooNos Y Frgodaery Qody FaBHdETd
(1) 48 Hoboen (2) 12 Hodrew (3) 24 Hobieo (4) 28 Hodsexd
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(1) Rashtriya Janata Dal

(2) TeluguDesam |
(3) Jammu and Kashmir National Panther’s Party 3

(4) Samajwadi Party

Bods HEY ) raboh 3§ IYe Do R0 T

(1) ofch =85a88

(2) Bewrddo

(3) —28xy $bcin 545 IaSS Fodd P

(4) 33rE>8 2§ __1

170.

National Voters Day is celebrated in India on i
(1) January26'™ (2) January 25 2
(3) August 15™ (4) November 26

erdeatdoest erdals Ao} 5:5‘95&;.&‘5}‘:1 Ddﬁﬂrcﬁs 5o
(1) 26, =556 (2} 25, 2330
(3) 15, esfy (4) 26, SH5o0=2t0

171.

Choose the correct sentences about Kuldip Nayar, who passed away recently

a) Hewasbom in Kerala
b) He worked as Indian High Commissioner in Britain

c) Hewasnominated to Rajya Sabha
d) Hewrote “Beyond the lines: An autobiography™
2830 8BNS HSED Sokgs Krd) HBES TEgEVLS K80 5w,

a) wEd BEFTC RSt adpoTrdd

b) QLIS 88 = ELAST HIBIrdd

c) CragdEth T3S Dolamd

d) “Beyond the lines: An autobiography”’89oares

(1) ab&conly (2 b,c&donly
(3) b&conly : (4) a,b,c.d
172. The world’s first thermal battery plant inaugurated ip the following coun =
(1) USsA (2) China = E
(3) India (4) Japan
Bdowed’ &0 $6)S gl Foi5 % Bos By ErS0Do%s0a
i) el @) se WEoh.
(3] =0&as>r (4) ;aaws
— e -

38-B



<

FRESHERS NOW

P8 Booklet Code :| |3

173. The following player won the Gold medal in Asia Junior Men s Singles Badminton
Championship in Jakarta in July 2018

(1)
(3)

Lakshya Sen (2) Subhankar Sarma
Rupinder Paul (4) Chirag Sen

28 2018 &° 2300¢° 28AS edalr 2=AcHE ) VoA rdeL Fr0NCHINDHS’
BgPDE) FHodS Earsdad.

(l¥y osgns (2) ®oEsosE ¥6)

&)

Sr2ods S (4) Doh NS

¢ 174. ‘Sadaiv Atal’is

: (D)

(2)
3)
4)

A comunemorative coin released by the Central Government in memory of the Former
P.M. Atal Bihari Vajpayee

The samadhi of the former P.M. Atal Bihari Vajpayee

A Welfare Scheme inaugurated by the Central Government on 25.12.2018

A literary award sponsered by the Central Government in honour of the former
P.M. Atal Bihar Vajpayee

0BD werS widdd.

(D

20

(3)
(4)

S0 PErdtoo® ebd DFB sE oy pdsgo o8 @abdio Hdd DS IS8
TPES 0

S PErSso@ ebd D0 FE o VNl

25.12.2018 % Boid @ehesod PCoPosnds Sofh Beko

Srd (PEE o wbd 850 FEacr FiTgo Sol (HehegoBd mSgaddhd)
ey )

175. On the eve of Indian Independence day, 2018 the following person was awarded Kirthi Chakra

(n.

(2)

4)

(1)
(2

_ @

(3)

Sepoy Vrahma Pal Singh
Rifflelman Aurangazeb
Major AdityaKumar

Lt. Col. Arjun Sarma

68 FSoBgdIE)So, 2018 voddyom 83 HE w;R FoBS 358

% P00 E’J?’.FJJ D5 moh

Bhdie T SohBd

Houb wddghoird
E'?ﬂ?:’:cé’.ﬁ_ send e ¥6)
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176. Expand KUSUM

(1) Kisan Unnathi Sochana Unnath Mahabiyaan

(2) Kisan Urja Suraksha evam Utthaan Mahabhiyaan
(3) Kiishi Unnath Suraksha Unnav Mahabhiyaan

(4) Kisan Utkrisht Suraksha Utthaan Mahabhiyaan
KUSUM 2:60t5084.

(17 828 &¥)d &Ss &S 0FDAITS

(2) &S ¢ oy B ST S HASrR
(3) B2 &5 WET &H5 HHPOTS

(4) 835 @ H WOT age HHTHADS

As per the RBI annual report for 2017-18, released on 29th Aug 2018, the percentage of

177.
demonetised currency returned to the banking system was
29 esidy 20185 (BEBoDS Bzby wrgos wh modoSr T8 2568 2017-18 (©Os"83w
JodT S50 SFond St ergodoh SorrdE SBA Hyyo. ’
[ I g5 (2) 98.3 () 993 (4) 100

178. The Egyptian photo journalist who won the UNESCO press freedom prize 2018 is
(1) Mahammed Hussian Zaidi (2) Mahammed Durani
(3) Mahammed Abu Zeid (4) Mahammed Yasir usman
UNESCO 8 @& & 2018 9 odS $adoihs & 2607 I5&?
(1) Soorsps oiys 88 (2) H558 oD
(B) HoFrinsd wwr B (4) TIE b WY

179. “Vruksha Rakshak™ is

(1) a special task force of Government of Andhra Pradesh to protect the Red sandal

wood trees
(2) avaccine invented recently by the scientists to save trees from diseases

(3) aTree Ambulance service launched by the Government of Andhra Pradesh
(4) ahospital established by the Forest Development Corporation of Andhra Pradesh
“3)§ OEE” @S,

(1) 4esoSEas Bebds AGTosS0 BY GEw FHo Dahons Bags LS, D)
(2) 3ot T Dobd Jgw EPEEIS TYIgen alise oy oghs
(3) oBRET B0 FEoDoRS & wowBY)

(4) eoEEPdE FVF BIODR0E TH0AS %”gm':"_ﬁ_f_ﬁf%gbﬁ

40-B



. d

FRESHERS NOW

E Booklet Code :| B

e ;nbﬁuiuzfmﬂisj Which c”“f““f banned the sale of existing homes to the foreign buyers in
: soaring house prices and rising homelossness in the country?

(| SEpapoe (2) SriLanka *

) Bwitmind (4) NewZealmd

2OREHY) 3 o, ITFHSH VoBoBoB & Bigsns® 5 Bios® DBIEDS KyFoid

Sat FRifooaTgse BB Erd80 vy 2018s* Ao DHoDS Bo IB?

(1) Soiyrs (2) &oos (3) Rgyoos (4) Srgaerod

p—

EWmT - . .
181. hDFm School Assembly’ is an innovative, effective concept to absorb vitamin D through
sunlight for students. This is a part under the

(1) Project Dhoop by FSSAI

(2) Project Vitamin ‘D’ deficiency by FCI

(3) Project Sunshine by FSSAI

(4) Project Surya Namaskar by Government of India
DErgfen SrEgEod Hod LS DR rosadd “hoghy FETo vRo” wd
A7), @erEtodIe erSs S Bod | FBES” erlo
(1) FSSAI &8 (&&8f§ &

(2) FClas (@a§ a8 ‘6’ abhcid) (VDD)
(3) FSSAI =0 8§ d5ae

(4) S Bebdgo T8 “Brdgsnn b’ @EF

{ 182. Match the following.
| i)  Johannesburg

a) BRICS Summit, 2018 )
b) BIMSTEC Summit, 2018 11) Quebec
¢) Gy Summit, 2018 Tn} London "
d) CHOGM - 2018 iv) Khatman
2SH6W0d. + )
a) BRICS sS5ra3do, 2018 l) é‘mj{amg
b) BIMSTEC s5raé0,2018 u}) §Sﬁé5

iii) oo

2018

¢) Gydsra¥o, o gl

d CHOGM -2018
(1) a-i, b-ii, c-iii, d-iV
(2) a-ii, b1, c-iii, d-iv
(3)  a-i, b-iv, c-ii, d-ill ' |
4) aivbiibeibdi T
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Narendra Modi for hj

183. SEUU! Peace Prize 2018 was awarded to the Prime Minister
contribution
(1) Towards disarmament
(2) Inpromoting peace talks between South Korea and North Korea _
(3) To improving international co-operation and fostering global economic growth

(4) To promote harmony among Asia-pacific nations
& Bod GoKos® THS Esrd RrE To8 oused® 2018 Hos&or08 @SB

SOoIE3rd JodEaskrg.

(1) DorcsnsEse

(2) G8m FBoSr, G&8 FocSre &y To8 SEVK 2oFroBodSod

i) @Déﬁa"éc&: DTErdSD, (@WHod E—.‘:‘gwi}laﬁa{gaeﬁa 2oTobodRodE

(4, ®Joir - HHE Dz DGy FHIFgY ZioSrobHoddodos ]

184. Nomadic Elephant, 2018 1s
(1) afirst baby elephant born in America through cloning technology in 2018

(2) itis a joint military exercise of India and Mongolia

(3) itis a joint military exercise of Mongolia and South Korea

(4) itis a joint military exercise of China and North Korea
Nomadic Elephant, 2018 ©3&

(1) §Q0h HEH o 2018 & ¥Iress® HPS &0 Db B
(2) 88 HoR'daSr B7e Hocdul WIS ITGIO

(3) SoR'dcSr, e §OOX® d7e Hodtng PIS dTrgdo

(4) B, &85 Focr Drw JodNg RIS DT g0

185. Gurudas Agarwal was
(1) A civil engineer working in Namami Ganga project who died in floods of Gangat

July 2018
(2) An economist to assess the project cost of Namami Ganga
(3)

An environmental activist died in Oct 2018 after a hunger strike demanding to cle#
(4)

HEHTS ©RTS
(1) Sz Ko @FEEST $2Bd7 278 2018¢5° Hormrss S8E et Soddod HIS Qo2

(2) &S5»an Ko \FBE ST Woda [ 33
(3) HomsBa srenige $00 Somed FHEr ITHHHE B3 ©Fns 2018&° Ssko?

up river Ganga
A Human Rights activist died in Oct 2018 in a terrorist attack in Jammu & K ashmi

dorgdde 38
(4) o528 2018 S* 2oy 506050 5805 ST DO T8 S° H6BoDS SrSSTEY

@riigao BrEgEE :
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186. The launch vehicle that injected two satellites of the United Kingdom into orbit on

16" September 2018 from Satish Dawan space centre is

(1) PSLV C40

(2) PSLV C41

(3) IRNSS IH

(4) PSLV C42

SARGTIS wodbE Joo H0od RIBSE oA SE TodS Body AT

DRowt 16, 20185 $Eps*E PITES T eI
(1) 2oDHHISD C40

(2) ScHDISD Chl

(3) 2w625352% 1H

(4 HoHBDISY C42

187.

In December 2018 the Reserve Bank of India appointed the following committee to decide
the appropriate level of reserves needs to maintain by the Reserve Bank of India.

(1) Raghuram Rajan committee
(2) C.Ranga Rajan committee
(3) Bimal Jalan committee

(4) R.N. Malhotra committee
o 88cs Badyg wrgofd SE Dorben A D088 BoTOl @oTR) JPYonordIL

2018 Aowbe’ grddicd Bad wrgob & (§od 08 Jobhdood.
(1) SHwordn ora 08

(2) C. dofiTran E08

(3, DS mers EE

(4) R.N. S |g° §08

188.

The cyclone that devasted the coastal boarder of Andhra Pradesh and Odisha in October
2018 was named as ‘TITLI" by the following country

(1) Bangladesh (2) Pakisthan

(3) Maldives (4) India

wE2e 20185° wo@HBT Habosn 2d 0T S Foerd) $e3800S dFuos B8
THoEdmo DS Bdo

(1) worrds (2) 825

(3) SrdHen (4) =mo&oir
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inistry of Housing and Urh,
rt released by b;[mkcd first as the easiest “it‘.vt:

189. According to the Ease of living Index repo hcity T

affairs, Government of India in August 2018, whic

live in India :
Mumbal

(1) Navi Mumbai ) foﬂ‘i‘;

(3) Pune (4) Ramp o

i 1)
Zoles Ay Sobosn SumsgEToe oo TP widg 20
Ben3600s JI6E Bsto erdsddost Ease of iving city o

&* Ease of living Indexy
LS
D HEETAE T o

oo,

(1) %5 Swomon (2) Beb S00TOP

§ = (4) o=Fo =
2018 is

190.

The focal theme of 4P [ISF (India International Science Festival)-
(1) Science for sustained growth

(2) Science for peace

(3) Science for transformation

(4) Science for Vigyan

45 IISF (m0Basr @otd)ass &) wRH6)-2018 ong, FES o
(1) HRd 09388 =Fdgso

(2) 7088 TZISo

(3) HBSESE @~ JJerio

(4) DepsSo F8& T Zamso

191

Who among the following are women recipients of Noble prize 2018?

a)  Malala Yousafzai
b) Donna Strickland
c) Frances Arnold

d)  Svetlana Alexievich

2018 SfandS 2Fund & (fol T°08" Fohd Balrder
a) Soerer ohrdoaol

b) & Sros

¢) @RS wopg

d) g ofEHdS

(1) aandbonly (2) bandconly (3

) hrc*ﬁnddonly (4) ¢ andd only
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192. The Leaders and dignitaries of those Nations that involved in the World War - [ met here

on 11.11.2018.

(1) Pans (2) Berlin (3) London (4) . Masco

300¢5¢3 @ﬁoﬁoﬁa%oé‘ 202060 JHN) BT whIden HdoN &He s e 11.11.2018
485 26 HIrIFScSrg.

(1) 208 (2) 38S (3) wods (4) Sray
193. Which of the following is the Regulating Authority of Capital Markets in India?
' Eod TES* rdEdios® fareds S0 bl dcho@od Hoy 267
| (1L SEBI (2) RBI (3) IFCI (4) WTO
194. What is the experience of the Indian Economy related to International Trade?
(1) Trade Surplus (2) Trade Deficit
(3) Balance of Trade (4) Balance payments equilibrium
BoSTAH FgFo 8 Sowohod G ep¥ ;553‘5@ @0ZfN0 Daed?
(1 568 dooen (2) 568 S'en
(3) 2488 2T eogo (4) Tgrd BYoPo T ST g0
195. How many commercial banks were Nationalised in India in the year 19807
TESBFoeS' 1980 5 J03SES8nS® =rdado dohadd ardag wrgofie dopg D7
(1) 3 (2) 14 (3) 12 4y 6
196. Which of the following is said to be Third Pillar of the World Economy?
(1) IMF (2) World Bank
(3) WIO (4) UNO
WHous @gé Sg9Y Sor S dogforr T S0BI8 287
(1) wodgéod (556 (2) B0 wgosd
(3) BHos by B0 (4) w=8gong D08
:19'?' According to 2011 census, which district of Andhra Pradesh (after bifurcation) recorded

the least scx-ratio? |
(1) Prakasam (2) Kurnool (3) Kiishna (4) Ananthapuram

2011 zarer T O w5 8o so|PDBT (Def2d wdoddo)es” @dge) @-é}d}‘{h QA& SJoecd
Tadd 2er 287
(1) @sdo (2) g&men (3) &3 (4) wlosHdo
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198. Expand NETA

(1)

National Electronics and Technology Agency

(2) National Emission Testing Agency

(3)
(4)

National Electoral Transformation Application
National Energy Transformation Application

NETA 2 288050

(1)
(2)
(3)
(4)

SA3S JogRE) wob BsmwE DAQ)

JA8S wAS BHoh DAY

SRS DOEESE |LranGaoas whsas

SASS AF§ ErRDiHons ©UBAS L

199.

"The man who got ‘Uttama Jeevan Raksha Pathak’ award for his bravery

in protecting

52 Amarnath passengers from terrorist attack was

(1)
(3)

Lt. Col. Rajit Kumar (2) Shaik Salim Gapoor
Bablu Martin (4) Decpak Sahu

Boade ©08 52 508 wHhbss dr@hod FEHos FFEIHRTD "edh

50 O HEET vl wothEad) g8

(1)
(3)

9305 )5 6asKsrE (2) “aE ddo Kb
war S0 (4) 635 &

200,

Which of the following are correct regarding Jnanpith Awards.

a)
b)

c)
d)

SHE s donodol & Bod FieS® FSD.

Jnanpith Award 2018 is 58% Jnanpith Award
First time in history of Jnanpith Awards, Jnanpith 2018 was awarded to the litarary

works in English language
Amitav Ghosh was honoured with Inanpith Award 2018

Ravuri Bhardwaja honoured with Jnanpith Award 2018

a) 2018 g;:ﬁ?aﬁ oy - 585 aa;.ﬁf:uﬁ Shaee
s B §;§1§ﬁvz‘é:- qdtwdod ©
c) 2018 ordhE s - @SS 85
d) 2018 ¥ ord - oniyrD Sorge
(1) a,b&conly (2) b,c&d only
(3) a&conly (4) b&comy _.
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